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Question 1: 
 

A function is given by f(x) = 3x + 8. 

 

Find the inverse function f-1(x). 
 

3∙3 Outcome 1 

 

 

 

Question 2: 
 

Find the equation of the tangent to the curve 

𝑦 = 𝑥2 at the point where x = -2. 
 
 

6∙3 Silver Outcome 2  

 

Question 3: 
 

Triangle PQR has vertices P(-3, -4), Q(5, -4) 

and R(-1, 2). 
 

 
 

(a)    Find the equation of the median from R. 
 

(b)   Find the equation of the altitude from P. 
 

(c)   Find the coordinates of the point of  

       intersection of the median from R and   

       the altitude from P. 
 

1∙8 Bronze Outcome 1 

1∙8 Silver Outcome 2 

1∙9 Gold Outcome 3 

 

 

 

Question 4: 
 

State a suitable domain, on the set of real 

numbers, for the following function; 

 

ℎ(𝑥) =
𝑥 + 8

𝑥2 − 2𝑥 − 15
 

 

3∙1 Bronze Outcome 1 

 

Question 5: 
 

Given that (𝑥 − 1) is a factor of 

𝑓(𝑥) = 𝑥3 + 𝑏𝑥2 + (𝑏 + 3)𝑥 − 20, find 

the value of b and hence factorise fully. 
 

 

 

 

 

 

 

 

7∙2 Silver Outcome 2 

 

 

My score: 
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Exam Questions  
Question 1: 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Question 2: 
 

 
 
 
 
 
 
 
 
 
 
 
 

 

Question 3: 
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